



For each expression write the value, or DNE for "does not exist."

$f(-4) =$	$\lim_{x \rightarrow -4^-} f(x) =$	$\lim_{x \rightarrow -4^+} f(x) =$	$\lim_{x \rightarrow -4} f(x) =$
$f(-1) =$	$\lim_{x \rightarrow -1^-} f(x) =$	$\lim_{x \rightarrow -1^+} f(x) =$	$\lim_{x \rightarrow -1} f(x) =$
$f(1) =$	$\lim_{x \rightarrow 1^-} f(x) =$	$\lim_{x \rightarrow 1^+} f(x) =$	$\lim_{x \rightarrow 1} f(x) =$
$f(2) =$	$\lim_{x \rightarrow 2^-} f(x) =$	$\lim_{x \rightarrow 2^+} f(x) =$	$\lim_{x \rightarrow 2} f(x) =$
$f(6) =$	$\lim_{x \rightarrow 6^-} f(x) =$	$\lim_{x \rightarrow 6^+} f(x) =$	$\lim_{x \rightarrow 6} f(x) =$
$f(8) =$	$\lim_{x \rightarrow 8^-} f(x) =$	$\lim_{x \rightarrow 8^+} f(x) =$	$\lim_{x \rightarrow 8} f(x) =$
$\lim_{x \rightarrow 1} (f(x)^2 - 2) =$	$\lim_{x \rightarrow 4} (x - 3f(x)) =$		